. 0.75 BF=(

VT (BT

)

4.5 1] 1.4 {5 R=(

il

éj\

. 1.28x3.2 BURLR(

B2 3 AL 2072 (

ﬁﬁ%&ﬂﬁ%%$,ﬁﬁ(

E—RmikireiE

49r, Hapfgaiia, 3L2779))

) (
Wr/NEL, 5.08%0.49 HIFHZ(
Yo
- A RERIRRE 8.45, Hrh—ANREY RBIERA 10 15, H—1

0.15 A bi=(

EOEiEJ:“ >”<c< nﬁ“ — .

9.24><0.909.24

3.6x1 .0103.6

s 56x13=728, HIESH N HAE I,

¢ e

VP

e 2.4 1 1.6 f%.

YN K

l><0.68©0.68

2.34><l.5©23.4><0.15

0.56x13=( 5.6x1.3=( )
0.056x1.3=( 560%0.013 =( )
R 1z B BRI .
3.12x0.5=__Ix 12.5%8.7x0.8 =(L_IxL_J)x
(2.540.6)x4=L_Ix__ |+ Ix
4.1x1.545.9x1.5=(_+L_lx

TR 284+7.2x25 I, MSEE( )k, E( )k iR



9.

10.

—_—N

[E—

2

3.

4.

W

—_a

1.

2

(OS]

4.

()]

BB H O/NXEZE 2.85m, J75KE 16 1%, J7 75 K Itk R
Hm( my DUUSAE 8 %, DUDUSKERAE BRI Hm.
RRAFXF)TAH—MELAKE, ERKZ&2.2m, 52 1.2m, X
RUAER A2 m, XEmEFERZEC )m

I CRHRTIE N, SRR ) (BN 14y, 35549

. AR O EAREER 099, B EHEAS DN ( )
R4 12x35=420, FrLl 1.2x3.5=42, ( )
0.25%9.9=0.25%(10—1)=0.25x10—0.25 ( )
8.26x1.5 FUFZ 1.239, ( )
PN FAR — 5 /T 1o « )

P (I IERE BT EHEAR S B)(B/NE 1 4, 3641
T &, RERRHELZEC ).
A. 3.6x6.25 B. 3.6x0.625 C. 0.36x625  D. 0.36x6.25

THETHE 4.4x2.5 FIREREERNZC ).

A. 44x25=1.1x(4x2.5) B. 4.4x2.5=4x2.54+0.4x2.5
C. 4.4x25=4x2.5+0.4 D. 4.4x2.5=(4.4+4)x(2.5x4)

C N0 BRANIE 0.01, WAL A ).
A HENRIRI B. HiANERI
C. ¥ KAEKH 100 £% D. ¥ RBIFERM 10 5
AT SE T 2.5 kg R, BT SER 7.95 50, NA(C )t
A. 19.875 B. 19.88 C. 19.87 D. 19.8

. B ax0.99=5x1.01=cx0.88(a~ b c #AN0), av b c =KL



A. a B. b C. ¢ D. ToikbE
6. PN R BT AR AR BB P AT /INERZ) 02 4.77, B BIHERRAE A 0] B8 52 ( )o
A. 4.779 B. 4.769 C. 4.765 D. 4.774

. %, (3528 77)
1. HESHE. @49)

0.9%0.8= 0.8x1.2= 0.12x50= 60x0.8=

1.8%0.04= 0.15x0.4= 1.3%0.004= 5.8—0.8x5=
2. AIRAHRE. (e BEER)(12 77)

53%0.19= 3.54x0.31= %0.97x3.02=

3.84x2.6= 0.028x1.7~ 1.05%0.29~

(TR B — LN (K5 2 7347) (TR B LKD)

3. i, sEMEMEMEE. (12 7)

3.45%102 0.47%0.5%0.8 3.1740.83%1.6

70.8x0.27+7.08%7.3 (4.3—0.5)x0.125 0.125%3.2%2.5

T MR, (3L 34 77)



(8]

c REE W NG, £0d 4.6 HUrRIEH A WRHAES S
RO RER 2 0.34 TR/AD, T4 TN T BRI 2L ? (4

)

R BN A ERR R A TT? (4 9))

. — AR | [~ AR G|
i #4054, || —AERay156E, [

T HUETHA N 31 m?, @R FHIAKA 0.6 m ) IE J7 T A g s T
86 HAZNL? (4 41)

. UEUEAE 100 TR TIEY), WK T 2 A EM09 T, T
HIERNE SE—48 25 JLHI ARG ? 418 S —48 45 T AR ? (4 7)

%ﬁ
N VP QM‘
24TCIE 23.8706/ T

- ERBCPAT R B R 5.2 TR, AbREROBAT R AW B,
ZEH 0.8 /NI . WRALHSCATE BAT 4 LBE, B/NIAT 14.5 oK,

F 0.25 /MNSFREEIAF G ? (4 47)

o1 AWM R T DRI 0.5 t ALK, 7.2 AWFRMA 8 A KL



AT LR 2 A s At ? (TSR T 2804 1)

SRR T 40 MR 36 MRBEAE . RTINS 5.5 TG,
MRBEEE B 3.5 70, AR e T 2 nk? (5 4))

. H)PE 48 M FIEERE S, Er 37.5 7o(E 5 KIE ), INENRIA

AT 2.5 m. EMRAIK, HTFEAZSR? D)



BR

—. 1. 45 1500 2. 63 3.84 3. — J§ 249

4. 845 5. < = > =

6. 728 7.28 0.0728 7.28

7. 05 312 125 08 87 25 4 06 4 41 59 15

. I’ 208

9. 4275 228 10. 6.8 2.64

o]

= L.V 2. % 3. % 4 x 3.
=.1.C 2.C 3.B 4.B 5.C 6. A
9. 1. 0.72 096 6 48 0.072 0.06 0.00521.8
2. 10.07 1.0974 29294 10.0 0.050.30(% 7 HE, ISHEHK)
3. 3.45x102

=3.45%(10042)

=3.45x10043.45%2

=351.9

0.47x0.5%0.8

=0.47%(0.5%0.8)

=0.47x0.4

=0.188

3.171+0.83%1.6
=3.17+1.328
—=4.498



4

70.8x0.27+7.08%7.3
=70.8%0.27+70.8%0.73
=70.8%(0.27+0.73)
=170.8

(4.3—0.5) x0.125
=3.8x0.125
=0.475

0.125x3.2x2.5
=(0.125%8)x(0.4x2.5)

=

1. 0.34x4.6=1.564(km)

Zr: INHLIHE T S IGEREA 1.564 km.

. 40.5x1.5—40.5=20.25(75)

% — P REEREN—AEBRS 20.25 7T,
. 0.6x0.6x86=30.96(m?) 30.96<<31

% 86 HUAE,

. 24x2+423.8x0.9=69.42(7T)
69.42+25=94.42(J0)

94.42<<100, fBK—42 25 JLHIAK.
69.42+45=114.42(J0)

114.42>100, AUE3L—43 45 JLHIRK,



. 5.2x0.8=4.16(TK)

14.5%0.25=3.625(F k)

4.16>3.625, F 0.25 /NEASRERI A,

. 0.5x7.2x31=111.6(t)~112(t)

& 7.2 AU 8 A KL AR 112 t % 4bbik.
. 5.5%40+3.5%36=346(J0)

%o R IAE T 346 TUik.

. 37.54(48—5)x2.5=145(7T)

Z. —ILFEEST 145 JT.



